Please help with the problem below.  I want to get a better understanding of the process. Once I get a running start I should be ok. Please no prior solutions and show how possible answer is calculated.

A town has a initial population of 2000 and Population Growth each year of 100. 

Suppose instead that the town experiences growth that can be modeled by the following: 
[image: image1.wmf] where t is the number of years from 2010.   

a)
Insert the value of 
[image: image2.wmf] “2000”  and use the Equation Editor or type square root of t as sqrt(t).

b)
Round to the nearest whole person when necessary.
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c)
Use your equation from part a to approximate how many years it would take for the population to reach 7000. Round to the nearest whole year when necessary.
d)
Graph this function in MS Excel by plotting the points found in your chart in part a. Label your axes with time on the x-axis and population on the y-axis. Copy and paste your graph here:
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